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Chaptc;‘ 10 Practice Test
CALCULATOR ALLOWED Score
Round to 3 decimal places. Show all work.

1. Find domain and zeros of y=(—2x3) 3-x2.
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2. Find the extreme points of y= (—2%“ )‘J 3—x*. Show the algebraic work to
support the critical values.
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3.  Find domain and zeros of y=(x -—7)6_% .
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4. Find the extreme points of y=(x*-7 )e_% . Show the algebraic work to

support the critical values.
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5.  Find domain, VAs, and zeros of y=ln(x3—7x+6).
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6.  Find the extreme points of y= ln(x3 —7x+6) on xe(—3, 3). Show the

algebraic work to support the critical values.
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7. y=(4x—3)9(3x7+1)3. Find % in factored form.
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8.  Find the traits and sketch y= (—2x3) 3-x%.
Y-intercept: (2.5) Range: fj = L'S’ JFHE | S %’Li&-J
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End Behavior (Left): powe End Behavior (Right):




9.  Find the traits and sketch of y=(x*- 7)€M% .
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EC. Find the traits and sketch of y=1n(x3-7x+6) on xe(—3, 3).
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